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Sample No.6 : b U AT =70 F A (1442-BH24-08TM)
Sample No.1: Blank (UEUY)
Sample No.2: B 1 ank (AFEEIEK)
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ARBRO B 2B L EEEON, FEl 18 U LD B 21 & 2 4% L L7
NyFTARz=v MZFinn Chamber (EPITEST, Finland)on Scanpor tape Z >,
BERAMER 0. 03g ZHERE @ LREAANC, 24 BERIESA L7z, = v hEREM 30~60
oy (BAEAS 24 BeRtR) R UG 48 RERIMBIC, FRRoASHRd SoaE i e vl LT,
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HIERRITHRICERE L, BoONRINELE TROERISTT,

No. |74 -BE | g | g | AT | RS
. M) AU e LTnTs x| 2AWME | 21/21 | 0/21 | 0/21 0 0
(1442-BH24-08TH) 48 | 21/21 | 0/21 0/21 0 0
2d BsfIE | 21/21 | 0/21 0/21 0 0
1 Blank (V&Y Y)
A8 R | 21/21 | o/21 | o/21 0 0
24 BERI% | 21/21 | 0/21 | o/21 0 0
2 B1lank (HAEHEK)
48 MR1E | 21/21 | 0/21 0/21 0 0
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Sample
No.6 R LTIV TATSR (1442-BH24-08TM)

E=4—No K 4% ] 24 FEfEtR 48 FFfE £
1 C-D 5 - -
2 T=N 2 = -
3 D-E =2 - =
4 T-K 5 - -
5 G-R L8 = =
6 G0 2z = =
7 S-0 8 = =
8 S-C 8 — -
9 S-S T ~ -
10 S-S 8 - =
11 G-Z T = -
12 R«H 8 52 =
13 D-H T - -
14 F«M 8 - =
15 S-0 =z - —~
16 K-H L8 - -
17 R-C £ = =
18 K=K 8 - -
19 R*R T = -
20 ST 8 - -
21 K-C =z = =
22 S-B <8 - -
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No.1 Blank (7 1!1)2)

E=4—No K & £33 24 By 48 I &%
1 G-D 8 = -
2 TN 8B - -
3 D-E 5B = -
4 T:K 5 ~ =
3 G-R 8 - =
6 e¥¥a} Ae = - -
7 S-0 L8 - =
8 S-C L8 ~ —
9 S-S Z - -
10 S+S L8 = =
11 G-Z T - -
12 R-H L8 - £
13 D-H L8 - -
14 F-M L - =
15 S0 = = -
16 K=H L8 - -
17 R-C g = =
18 K=K £y - -
19 R-R 8 - =
20 ST L8 - =
21 K=-C £y - =
22 S+B 8 il -




Sample
No.2

Blank (4 &15K)

E=%—No K # PRl 24 FFfE1# 48 Btk 7%
1 C:D 9 - =
2 T=N 2] = -
3 D-E s, - =
4 T-K 5 = =
5 G-R T - -
6 G0 2z = = =
7 S-0 L8 - —
8 S-C g - =
9 S-S g = -
10 S-S = - -
11 G-Z g ~ -~
12 R+=H £ ~ -
13 D-H g = =
14 F«M g ~ -
15 S-0 g - £
16 K=H g - -
17 R-C Z - =
18 K=K g - —
19 R:R oy - -
20 S-T L8 - =
21 K-C i - -
22 S-B g ~ =




